Normalized response

Central frequency = 3 MHz

5 % 10t¥dividual traces [Positions 1]

) % 10tAdividual traces [Positions 2]

4+
® ©15¢ -
c _— c
o o
a3t 7y
Qo - o -
- .Y A S— ° 1
(0] ~AAA (O] VA -
N W N WA—
=20 - s T = N
£ £ W
o T S) -
pd Z 05 -
1 - N ——
0 ; ; ; 0 ' ' '
2.5 3 3.5 4 45 2.5 3 3.5 4 45
Time [s] %107 Time [s] x107°
L5 %1022 Summed response 15 %1022  Summed response
1r 1r
()
2
0.5 o 057
o
7]
= n
Or "\‘ kS Or ‘“’\/‘UUAV J\ J\"
N
©
0.5 € .05}
(@]
pd
1t 1r
-1.5 ; ; ; -1.5 ; ;
2.5 3 3.5 4 45 2.5 3 3.5 4 45
Time [s] %107 Time [s] %107



